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Binominal Expressions

Genlzsen &BITIB

1 2 x3a =
2. 4 x(—2x) =
3. (-3) x 2x =
4. (-4p) x(-2q) =
5. 3x X (5x) =
6. 2 (2x+1) =
7. 4 (y-2) =
8. -3(a+2) =
9. -2(2x-3) =
10. 2x(4x + 1) =

1. x (x+2)-2 (x +2) =
12. m(m-3n)-3(m-3n) =
13. (x+5) (x + 8) =
14. (7+a) (3 - q) =

15. (m—2) (2— m) =

amneses 4:1- 01 o
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ceo (x + 5)2
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x? + (2xxx5)+52
x% 4+ 10x + 25

e - (a - 3)2
= a? —(2xax3)+32
= a’—-6a+?9

CQo - (2m - 3)2

= (2m)?2 — (2x2m x 3) + 3?

= 4m?—-12m +9

e & (2x + 3y)2
= (2x)2 4+ (2 x 2x x 3y ) + (3y)?
= 4x? + 12xy +9y?
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1 (x+5)2

2. (x—5)

3. (2x+5)2
4. (2x + y)?2
5. (-2x +5)2
6. (x —2y)2
/. (-2x+y)?
8. (2x + 3y)2
9. (2x —3y)2
10. (-2y —x)2
1. ) 2
12. ) 2
13. ) 2
14. (-3 )2
15. (  —x)?2
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25+ 10b + b?

a’> +8a+ 16

x?— 14x +—

16 +
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ce+- 217
= (20 +1)2
= 202+(2 x 20 x 1)+12
= 400+ 40 +1

= 441
e & 292
= (30-1)2

= 302-(2 x30x1)+12
= 900- 40 +]1
= 841
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Glen 0w @B Bedm O &3¢y @OE HoOTI.
). x*+6éx +

2. m? -4x +

3). a® - + 169
4). 36+ + m?
5). -8x +

Jeode 0z’ SBuw ¢l
). x +y =5¢xy =b¢, »® x%+y°8 eos osssm.

(x+y)2 = x2+2xy+y* a0 g B8,
DY @eqe DY,
52 = x?+ 2x6 +y?
25-12  =x2+y?
13 = x2 +y?

2). (a—b) =3¢, ab =28¢, 80 a®+ b?* 8 gow
(a—b) 2= a? - 2ab +b? 20 o ¢R§.

32 = q? - 2x28 +bh?
9+56 = a?+ b?
65 = a”’+ b?
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3 x?2+y2=25¢, xy =124¢, 2@ x +y 8 eoc

(x+y) 2 = x*+2xy +y?

= (x®+y?)  +2xy

=25+ 2x12
=25+ 24
(x+y)2 =49
x+y =+7 (V49 = +7)
O® x+ y =47 evixt y= —7 Bs ow.

(x +k) 2= x?+ bx + q ©» 80 kwo q 8 eoc

4).
e®@8 ©¢ ve¢w 6 Beo k= 3 s gyw.
080 q = k? 9 283 q = 9 @d.

5). (t+%) =2 2» 80 t2+t128 QO

1 1 1
(t+-)2=t2 +2xtx- +5
t t t

22 =2+ 9 +1
t2
4 -7 =t2+l
t2
2 =t+ =
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